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BOTANY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Diagrams/Figures, wherever required, may be drawn in the space provided for answering the
question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@Us—A / SECTION—A

1. fr=fafes 9@ w99 =1 W I 150 T8t ® i

Answer the following questions in about 150 words each : 10x5=50
(@) TEE F IR THAE F uR W HY Tiina frmn s k7 b Iugw o A wEwa @ T4 H

H H=A GEE|

How are viruses classified based on their symmetry? With a suitable diagram,

explain the structure of T4 phage. 3+7=10
(b) URY Ao F 6 WA F yau & faftm al=t fi =men Hifg)

Explain various modes of entry of plant pathogens into their hosts. 10
(c) wHREEE % il i anfis wew #1 3g@ fAfm)

Mention ecological and economic significance of bryophytes. 4+6=10

(d) @ § R wole v A wel-wel faka 87 3 wEl w1 gu fife & fkew &
Sfarem wra § TR W § 9 S g
Where are the ggmnosperms distributed naturally in India? Mention the places
where fossils of Bennettitales occur abundantly in India. 10
(e) aaEsh uredl § g G % fwwsEn ¥ ygE fEw Fn-wn {7 ogadst wed % ANA
AIH S % AW Fasg|

What are the principal directions of evolution of floral structure in
angiosperms? Name the ANA grade orders of angiosperms. 7+3=10

2. (a) uRMAE M ¥ e # oiw fafie wof w1 Swgw faE el e fifm
Describe the five distinct stages in the life cycle of Puccinia graminis with
suitable diagrams. 20
(b) mmﬁaﬁaﬁm%ﬁﬁﬁmmﬁaﬁmmla@mmﬁﬁﬁm
TorgHt S RifdreRelt w1 IW wA h w-F A 27
With suitable examples, bring out the industrial uses of microorganisms. What
are the advantages of using immobilised enzymes and cells in commercial
processes? 10+5=15
(c) R agenar = ‘Shifaa sharm’ =i Fe1 ST 27 39! I ToFE SRS % SAHR W AT

Why is Ginkgo biloba called a ‘living fossil’? Discuss in the light of its
reproductive structures. 5+10=15

3. (@) Yo ¥ a3 wfERE aaEl B e fv) 6 e G | T e
difs)

Enumerate the beneficial and harmful effects of algae. Add a note on their
commercial cultivation. 10+5+5=20

(b) T T a1 T Trmelisy) 2REEEE F ShaTes e d g A 4w g v |
w1 s ol ® ofv w7

Draw the life cycles of a homosporous and a heterosporous pteridophyte. How
do they differ? Which is more evolved and why? 8+4+3=15
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(c) = qU SEERA R Wt arfieRwnt 6t wp@ faRwarett A g Fifv) 36 ui-dst A

=t fifr)
Compare the key features of classifications proposed by Hutchinson and
Dahlgren. Discuss their merits and demerits. 10+5=15

4. (a) 9ETEF R AR 9Q FHAIGNG F A IR g7z § wEmr o) Fiem i wimad S dem
Bt &7

Describe the male and female gametophytes of Pinus. How are the processes of
pollination and fertilization accomplished in Pinus ? 15+5=20

(b) WIEEHIEH % 1G9 IR 1 AU HINIG | ATgeren & fen ol ) s fReogeft <, st fage T
HEEeed ¥ 9h °HE a9y H quia g

[llustrate the plant body of Psilotum. Add a note on the primitive characters of
Psilotum which indicate its close relation to extinct group Psilotales. 10+5=15

(c) Thaamsdicn 70 87 R  wedt e F sham=s 1 e s R @ Nawsen
3R Fa% S dAH H Ig@ Hf

What are myxomycetes? Outline the life cycle of a typical myxomycete. Mention
its protozoa-like and fungus-like characters. 5+5+5=15

@us—B / SECTION—B

5. Fm=fafes /Q@% v 1 S0 @ 150 vl § A .

Answer the following questions in about 150 words each : 10x5=50
(@) DG H R (Q-a1E) TR F w1 oRomm ® &2 e Hifvg)

What are the consequences of domestication of plants? Explain. 10
(b) auiA Fifm 6 fora wwR wfrew S 38 5@ a9 Nl § 93 F 91 BN F HR0 S ) A

A T H W F6EY S @ Ggh H awia ¥

Describe how successive cambia cause thickening of the stem in some
flowering plants. Name any two families that display this phenomenon. 8+2=10

(c) fafim y@r hit Al § i@ A s (TiffRE) # o= Eeis qg  Hi
YA 9 T A7

Distinguish various types of agamospermy. Why is apomixis now regarded a
tool of practical importance? 8+2=10

(d) ol ofe W A I RUl F FEEfeE AW, Fo B AW MR TYH AT B SaRe
Write the botanical names, family and parts used of any five fibre-yielding

plants. 10
(e) TS 3R few yu F 9 IR F wWe Hifvw)
Differentiate between zygotic and somatic embryos. 10
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6. (a) TIash uredt ¥ fafim wHR F o & fawm w1 9ol AT TR Faw T w0 e 87
9 # yodiy ¥ FE w1 g Hifw)

Describe different types of endosperm development in angiosperms. What is
the significance of aleurone tissue? Mention the function of endosperm in seed.
14+4+2=20
(b) SRR fH i f@vaei f e @k e Hifv) @ ofer H B o g sk
T F wEw H IgE HiY|

Explain and illustrate the characteristic features of Brassicaceae. Mention any
five species of the family and their economic importance. 10+5=15

() st H gem #§ frele i duv-wadt za | vF e Ruoft fafew) wwa A ¥ ER
T 5l uie firle & aFmafos @ fafa) fde 6t @@+ F v aaRU)
Write an explanatory note on nutritional superiority of millets over cereals.

Write the botanical names of any five millets grown in India. Mention the
advantages of cultivating millets. 15

7. () AFITER-TEE (wEERE) 1w e fao fafen) me w Ao
A % w1 Awareafa-fgm & men, s @ e )

Write an explanatory account of ethnobotany. Give a critical account of
whether ethnobotany is a faith, myth or science. 20

(b) ¥ g 8 Th AR § THEE R e F e i gem fifs) o i
FIREH A G, Sa RREE H T A R TR m R

Compare the differentiation of xylem and phloem from the cells cut off by
cambium. How is a vessel structurally different from a sieve element? 10+5=15

() Fa% dada ¥ FHeia Dul § ofedasliva % w0 SR §7 FEal $ AR A W gRd A
IwAfan 1 e wiga famor difs)
What are the causes of variability in regenerated plants in tissue cultures?

Give an account of utility of such variants in improvement of crop plants with
examples. 15

8. (a) u@ Hifem, My Ve, Riwrwa 3 Foex fRufwl, e Faw wadt S F vg@
oz &) 7 A TS 9eh W AreArHs fewoft feiRaw)

Basal media, growth regulators, sterilization and culture conditions are
essential components of plant tissue culture techniques. Write an explanatory
note on each of these components. 20

(b) Wm-sfa S wee 2 I fry SR #7 2@ s wredt A R w A Bt #2
FR sgEum # wE-wfE i uredt % wEw Hi e fiN)

How are pollen haploids produced? What are the methods to diploidize such
haploids? Explain the importance of pollen haploids in agricultural research.
8+2+5=15

(©) ‘“‘ydaa i gufify del § deiem & Q) oews ueE 11 @ FA w g fafau)

“Polarity and symmetry are two essential components of morphogenesis in
plants.” Elaborate the statement. 15

* * &k
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